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MAT 1320 A Assignment 1 (Due Wed. Sept. 29th, 8:30) Student Number:

Problem 1: §1.3 #50

Answers:

(a) fg(1)) =E (b) g(f(1)) = @ (¢) F(f(1) = @

Problem 2: §1.5 #30
‘Work:

0‘) 3 l’\eu.rs* i< 67 céjué///ﬁ‘ ﬂfﬁ’d;c'd" , Fo 500 - _26
h 2t alewiw@« i t o heus, se 500 2%¢

G VO mimetar i €= V%o = % é"““)
o 500 - 220

Answers:

(a) number after 3 hours is \ 3»? 0Cd (b) number after ¢ hours is S500- 2 2€
e
(¢) number after 40 minutes is

Problem 3: §1.6 #50
Work:

a) b (x*-1)=3

Ao 9{/2.,[:63

bj (‘32’(- 3:2’(—#2 =0
(e¥*-D(e*~ 1) =0

Jo ex:—? =) %='({"?
or e=l D n=9¢

3
A %Q: € ¢}

o= O or bal

cr O or 0.6%3




Problem 4: §2.1 #6

Answers:

(@) @ on [1,2], vay = U@) =Gl ~ (25684 = (C/c/,g m/yz
K- { ]

(i) on (115, vag = G(L5) =) _ o815 -8 - [ 535 m/.r

() on [1,1.1] [ o

i) on [1,1.1], vavg = Y {Li) ~V) = S HMey-gM _ (/T'___l
e L5 = (699 w5

(iv) on [1,1.01], vavy =y frol) ~0ll) — 2026 m
Vife) = o) = g- -&i ‘ Yy ;
=7 ._,__.5..;'____. &. 26/ /T
(v) on [1,1.001], vayg = Uitl.ecl)~ A1
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Problem 5: §2.6 #14

Work:
A vl :f:é»; H(+h) = HGY = G jaiceb) - 1560 eb) — 4.1
=14 h Ll-)() p
:nﬂnl 10+ 10h — l#6 (1+20442) <010 _ O 6.9k - 166l 2
h.ao l? L'l-}(} L’
= bin (620~ 1.64)) = C.2¢
hso
b V) = A Hlath) - HE) = M 18 ath) — 1 #elasl)* - (foa = 196)
7 h=¢ A hsa 4
= M W0 =3Nh =15
= s 0 = [0-3Na

g H@)= (ot -186t"= t(1o- 18t) 50 H=0 if t=0 g P t=1g,

d, Sarme gpees Gorly < B 10— 322 (5.3%3) = -/0

Answers:

@0 ~(G 28 mfs| © (}0-37”24/&;! t{—;,gm,gg} <d>v=@

Problem 6: §2.7 # 44
Answers: (i) position is curve ‘ d S (i) velocity is curve ‘ C l
(iil) acccleration is curve ﬁ)_\ (iv) jerk is curve l a_!




